SCHOOL BASED ASSESSMENT 2021
GRADE 8
COMPUTER SCIENCE MODEL PAPER
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General Instructions for Students: = =S~k
bl g0 gee

1) Use mask & keep at least 3 ft. distance from each other.
S Ala B 1S i 0y oS ) aS gl (S Jlarid K Sewla 1]
2) Read carefully and attempt all questions.
- S 0 V) g bl g R Ty o 08 22
3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as
shown in the example given below.
= LS LSS (e e 3 (5 o AS Lawd (il 0000 Gl 9 gaua S J) g (AINY) S 503
Example: Which error occurs when the instructions written in a program do not follow
the rules of the programming language?
des L aslgual S ol Kal S g il A g8 (el Ko o (Ago by (ol Rl o (1982 Jlia

U (S O
yntax Error Ju gasiiv b. Logical Error L Jsea¥
/Run-Time Error s ai ¢, d. Execution Error s ¢y sSa 35

4) Use black/blue ink for writing. Use of lead pencil is not allowed.

cmt O ) (S Jlariad) S Juudy S (S Jlaiaal IS dlidgy L/ NS o S _esd g
5) If more than one options are encircled in a question, no mark will be given.

8 il L Gl el S 55 LS LR 0 jila a8 S il g 03l ) i Sl (3 Il g S 8.5

Total Marks: 50 (Multiple Choice Questions) Total Time: 1 Hour

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part.
Each question carries two marks.
.uﬁﬁd‘gaéd\yx.u#:ingQY\waY\J#(ZS) g e ol sl

1. The following picture representing the

a. LAN b. MAN
- - % —
c. WAN d. PAN - R~
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2. The following picture representing the

.duﬁJSugduLuuS gaal Jd aaaia
a. LAN b. MAN
c. WAN d. PAN
3. is a very large computer network which covers a large geographical are, such

as state, province, country or the whole world.
Lia s S ¢ g ¢ Gy i ¢ B3 L) R 2 5 SO g o S0 S S 1 g S

= daa g
a. LAN b e
b. MAN " . ——
c. WAN - ity (li:i;j Ki/\ ,{m(.
d. PAN S N

4. The given picture shows representing which cutting edge technology?
f o 8 S (Sl (S (2 UK K s (098 (0 g S 52
a. Cellular Communication (S 538 b
& W, .
1 H H ~ JAPENES »\ /’
b. Satellite Communication xS seS St . N

c. Global Positioning System s Kty 35 i 58 ~ 4 A
A ~ 3" Y 3

d. Bluetooth 435552l g TR 5

5. is the type of threat that has self-replicating property that causes damage to
files.
LA Glali S (glild ga (g Cuma guad S SR S A8 (e e o peld S S Sy S
a. Worms s b. Antivirus o5 STl
c. Adware i d. Pirated Software i s Célu 3i ul

6. Which person involves himself in activities that are harmful for computer security?
(o 03 il ) S il S S gl g o U S Jabdi (e 0930 8 s (ool 58 il ) i L (68

a. Web Developer _alis3 < b. Hacker S
c. Stealer Ll d. Programmer <) 2 5 5
7. Excel workbook consists of spreadsheet , each of which can include
separate data.
8 K K (e Sl o 0 o ¢ = Jaldin Cuadiy jaa) (3 S S JuaSy)
a. pages Gladia b. files Bt
C. pictures nsbal d. documents <laels
8. is a collection of cells on a single sheet.

= A saaa S Sl Codidal g S
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a. Worksheet <wi <5 b. Workbook S-S5

c. File Ju d. Document i sSI3
9. bar displays the contents of the active cell and the formulae as user
types them in an active cell.
US E00 0m die 5500 ) 080 oy o 0 U LgSa ¥ ga 8 g 31 9a S Ja 53500 1y

=
a. Formula Y l b. Ribbon ¢y
c. Document e sSI3 d. Workbook <o << )
10.  The name of the cell is made up of the name and the row number.
o i S e ppad (S B g ol S b S o
a. column IS b. row i
c. cell s d. document i SIS
11.  The formula bar also contains the button.
= S e R S ¥t
a. Insert Function ~ (p388 &yl b. View Function (888 s
c. PrintFunction PS8 iy d. Create Function (&sa &y S
12.  Columns in a worksheet are arranged in a worksheet.
O FallS (e Sl Sy
a. vertically s b. horizontally 3
c. numerically _ ysh e d. randomly = s 5 e
13.  Rows are arranged in a worksheet.
O A g A iR e G S g
a. vertically 25 b. horizontally %!
c. alphabetically &l S afcas d. randomly = i 55

14. Choose the correct option to identify a column in a worksheet.
L0 eiiia Gl ruaa il S Glavg (S allS (e Cndi S

a. Alphabets <5~ b . Numbers el
c. Pictures asbas d. Symbols  “ldle

15. Choose the correct option to identify a row in a worksheet.
S edlia Gl muaia i S Glagy S U8 e Sl S

a. Alphabets <5~ b. Numbers )
c. Pictures asbal d. Symbols <ldle
16. The is the cell which is currently selected.
= s s 03 8 udlila 0392 94
a.cell b. cell address o i) 1S o
c.cell rang 2 (S Jaws d.

active celldew S e
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17. A problem statement should have one of the following features?
¢ il Ugs ) (e s pead 3w i (e il alyl
a. Clarity and Precision Gilhae (e ) Siabass
b. Clarity and Accuracy — Siw s sl sialiag
c. Clarity and Visibility il s o3l sialas
d. Clarity and Diligence usisds )l sl
18. The operations on input data by using formula to find the solution of the problem
represents.
e (Sl S Jae B8 &y o S S Jlantid Y ga b i S 8 (B Ja 1S ia

a. Input Su gl b. processing requirements
Dl oS S ]
c. Output Sy &gl d. Input and Output Sl sl Sy ol
Sy
19. In Flowchart, the operation “Divide the sum by 5 to get average of numbers” will be
placed in which symbol?
T8 il S, (e ke (S (g gl " i S pad oS5 S S Jala paaihaagl ¢ (e Sy ol
a. Processing Symbol Qe S ledee b, Decision Symbol (S )b Alasd
Cdle
c. Input / Output Symbol Gadle (S Su &gl Sy ) d. Start Symbol Sg s
Cdle

20.  To find the Sum and Average of Five Given Numbers, what will be the next step
after “Display Sum”?

I8 53 LS 228 D) g S (n& ga20) " e ¢ i S BigaT Jang) gl madA S (g pead K 3 iy

a. Add five numbers LS Jald e mily b. Divide the Sum by 5 5848,
LS s
c. Display Average Lo Jas gl

d. To
Stop [EPPRER
21. The named memory locations in the computer’s memory whose value cannot be

changed during program execution:
LS (e Gl Olgd S el ja Jas gyl Bg o o8 e S (o FhdS ol (o) pana 230l (e (5 ) 9030 (oS S gaas
a. Data &3 b. Variables <l i
c. Constants <M d. Address s

22.  Which error occurs when the instructions written in a program do not follow the
rules of the programming language:
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Q
fon
a. Syntax Error oo oSsie b, Logical Error BRTRSNENY
c. Run-Time Error oo A8 ) d. Execution Error
Do SR

23.  Which error occurs due to wrong use of formula or providing wrong value to a
variable?

T (i Lad gy QLB L 98 i ng (S S al B e ke oS il oS U Jlariad BlE S Jga 8

a. Syntax Error o oS b, Logical Error. BRTRSNENY
c. Run-Time Error. oo @8 ) d. Execution Error.
Do O S K

24.  Which of the following is represented with symbols, used to perform particular
action in the expression?

O (24 (i ypSl) (oS S g LS B dda S 5aNS (i O paaS) 58 (S i (24 2 A sl
Som S 5 Ay

a. Operands.  3u b. Operators. _&

c. Values. whie d. Instructions. <y
25.  Which of the following Arithmetic operator has the highest priority in the BASIC
language?

¢ = duala g 5 g pa Sl S g o8 e o il (bes LaigS 09— (e Jad 00 i $SIBASIC
a. Modulus Operator & Ul 53l
b. Multiplication or Division Operator s »/\S awdily ¢y
c. Exponentiation Operator i il (piiii syl
d. Addition or Subtraction Operator jii_l\S (5 il aes
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